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FINAL EXAMINATION
MARCH 2007

CLASS - IX

 Max. Marks : 80










Time: 3 hours

MATHEMATICS

       General Instructions :

1. All questions are compulsory.

2. The question paper consists of 20 questions divided into three sections A, B and C.

3. Section A contains 8 questions of 3 marks each, Section B is of 8 questions of 4 marks each and Section C is of 4 questions of 6 marks each. 

4. There is no overall choice. However, internal choice has been provided in two questions of three marks each, two questions of four marks each and one question of six marks.

5. In question on construction, the drawing should be neat and exactly as per the given measurements.

SECTION A

1. Find four rational numbers between 
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2. Find a and b so that 
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Or

Rationalise the denominator of 
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3. Evaluate (15)3+(-4)3+(-11)3 using identities 

4. Study the following diagram and answer the questions

that follow:
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(a) Name the point identified by the coordinates (4,-3)

(b) Name the point lying in the fourth quadrant 

(c) The ordinate of point D

(d) Abscissa of point C

(e) The coordinates of point A and E

5. A bag contains 4 red, 5 green and 3 blue marbles. A marble is selected at random from the bag. 

Calculate the probability of getting (a) a red ball (b) a blue ball (c) not a blue ball.

6. Find the value of k such that the following equation kx – y = 1 has the solution (2,5) 

Also find the value of x when y = 0

7. Find the mean of the following frequency distribution:

	Class interval
	Frequency

	0-10
	9

	10-20
	12

	20-30
	15

	30-40
	10

	40-50
	14

	Total
	60


Or


If the mean of the following distribution is 21, find the value of p
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8. In the following figure, AP||BQ||CR, Prove that ar(ΔAQC) = ar(ΔPBR)

SECTION B

9. Draw the graph of the equation 2x – 3y =5. From the graph, find the value of y when (i) x = 4 and 

(ii) x = 3 

10. A teak wood log is cut in the form of a cuboid of length 2.3m and width 0.75m. If its volume be 1.104 m3, find the thickness. How many rectangular planks of size 2.3m x 0.75m x 0.04m can be cut from the cuboid?

Or

Three cubes whose edges measure 3cm, 4cm and 5 cm are melted to form a single cube. Find the 

surface area of the new cube

11. In the figure, AD and BE are medians of a ΔABC and BE||DF. Prove that CF = ¼ AC
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12. Find the values of h and k so that the (x+1) and (x-2) are factors of f(x) where f(x)=x3+kx2+hx+6

13. [image: image9.png]


The length of sides of a triangle are 42cm, 34cm and 20cm. Calculate its area and length of altitude to the longest side.

14. Construct a triangle ABC in which (B=300, BC=5cm

and AB – BC=2.5cm  

15. In the figure, O is the centre of the circle. 

Calculate the magnitudes of (APC and (AOC.

Or

In the figure, PT touches the circle whose centre is 

O at R. Diameter SQ when produced meets PT at P. 

Given (SPR =x, (QRP=y, then show that x+2y = 900.


16. In the figure, ABC is a triangle in which BC is produced to D. 

In case (A : (B : (C : : 3 : 2 : 1 and AC
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SECTION C

17. (a)  Use factor theorem to check whether or not g(x) = x+3 is a factor of the polynomial f(x)=x5+3x4+x2+8x+15 

(b) The expression 2x3+ax2+bx–2 leaves remainders 7 and 0 when divided by 2x–3 and x+2 respectively. Calculate the value of a and b and factorize the expression completely,

Or

(a) Without actual division prove that 2x4 – 6x3 + 3x2 + 3x – 2 is exactly divisible by x2 – 3x + 2

(b) Resolve into factors using factor theorem:  x4 – 2x3 – 7x2 + 8x + 12  

18. (a) Prove that ΔABC is isosceles if altitude AD bisects the base BC 

(b) In figure, AC=BC, (DCA=(ECB and (DBC=(EAC. Prove that: 
(i) ΔDBC(( ΔEAC       (ii) DC = EC


19. If h,C and V are the height, curved surface area and volume of a cone respectively, Prove that
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20. Construct a frequency table for the following ages (in years) of 30 students using equal class intervals; one of them being 9-12 (12 not included) 

18,12,7,6,11,15,21,9,15,8,13,15,17,22,19,14,21,3,8,12,17,15,6,18,23,16,9,21,11,16

Represent the above data by a histogram and construct a frequency polygon for the same.
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